
Řešení didaktického testu z češtiny 2016 jaro: 

➢ 1 B 
➢ 2 B 
➢ 3.1 klasicismus 
➢ 3.2 Moliére /   

Jean-Baptiste Poquelin 
➢ 4 D 
➢ 5 A 
➢ 6.1 A 
➢ 6.2 N 
➢ 6.3 N 
➢ 6.4 N 
➢ 7 blízkými, vymýtit,   

penězi, ztracené 
➢ 8.1 B 
➢ 8.2 F 
➢ 8.3 C 
➢ 8.4 E 
➢ 9 D 
➢ 10 D 
➢ 11.1 C 
➢ 11.2 A 
➢ 11.3 E 
➢ 11.4 B 
➢ 11.5 D 
➢ 12.1 N 
➢ 12.2 A 
➢ 12.3 N 
➢ 12.4 N 
➢ 13 A 
➢ 14 B 
➢ 15 A 

 
 
 
 
 
 
 
 
 
 
 

➢ 16.1 vyznavači, násilím 
➢ 16.2 totalitních 
➢ 16.3 předložka 
➢ 17.1 N 
➢ 17.2 A 
➢ 17.3 A 
➢ 17.4 N 
➢ 18 B 
➢ 19 C 
➢ 20 D 
➢ 21 kradmé 
➢ 22 A 
➢ 23 B 
➢ 24 A 
➢ 25 B 
➢ 26 A 
➢ 27.1 C 
➢ 27.2 E 
➢ 27.3 D 
➢ 28.1 A 
➢ 28.2 A 
➢ 28.3 A 
➢ 28.4 N 
➢ 29.1 administrativní /   

úřední 
➢ 29.2 odborný / vědecký 
➢ 30 D 
➢ 31 C 
➢ 32 C 

 


